

H. W. 8

Solutions

①

①

$$(i) \int_0^{\infty} \frac{dx}{x^2+1}$$

$$\int_0^N \frac{dx}{x^2+1} = \tan^{-1} x \Big|_0^N$$

$$= \tan^{-1} N - \tan^{-1} 0$$

$$\int_0^{\infty} \frac{dx}{x^2+1} = \lim_{N \rightarrow \infty} \tan^{-1} N - \tan^{-1} 0$$

~~does not exist~~

Restricting  $\tan^{-1}$  to have a range

$\left[-\frac{\pi}{2}, \frac{\pi}{2}\right]$  we have

$$\lim_{N \rightarrow \infty} \tan^{-1} N = \frac{\pi}{2}$$

$$\tan^{-1} 0 = 0$$

$$\therefore \int_0^{\infty} \frac{dx}{x^2+1} = \frac{\pi}{2}$$

$$(ii) \int x^{-1/2} dx = \frac{x^{1/2}}{1/2} = 2\sqrt{x}$$

$$\int_N^1 x^{-1/2} dx = 2\sqrt{x} \Big|_N^1$$

$$= 2[\sqrt{1} - \sqrt{N}]$$

$$\int_0^1 \frac{1}{\sqrt{x}} dx = \lim_{N \rightarrow 0^+} 2[\sqrt{1} - \sqrt{N}]$$

$$= 2$$

$$(iii) \int_0^4 \frac{dx}{\sqrt{4-x}} \quad \begin{array}{l} y = 4-x \\ dy = -dx \end{array}$$

$$= \int_4^0 \frac{-dy}{\sqrt{y}} = \int_0^4 \frac{dy}{\sqrt{y}} = 2[\sqrt{4}] = 4$$

$$\textcircled{\text{iv}} \int_0^{\infty} e^{-x} \cos x \, dx$$

$$\int e^{-x} \cos x \, dx$$

$$= e^{-x} \left[ \frac{\sin x - \cos x}{2} \right] + C$$

$$\int_0^N e^{-x} \cos x \, dx$$

$$= e^{-N} \left[ \frac{\sin N - \cos N}{2} \right] -$$

$$\left[ -\frac{1}{2} \right]$$

$$= \frac{1}{2} + \frac{1}{2} e^{-N} (\sin N - \cos N)$$

$$\int_0^{\infty} e^{-x} \cos x \, dx = \frac{1}{2} + \frac{1}{2} \lim_{N \rightarrow \infty} e^{-N} (\sin N - \cos N)$$

$$= \frac{1}{2}$$

② (i)

$$\ln \frac{1}{2} + \ln \frac{2}{3} + \dots + \ln \frac{n}{n+1}$$

$$= (\ln 1 - \ln 2)$$

$$+ (\ln 2 - \ln 3)$$

$$+ \dots$$

$$+ \dots$$

$$+ (\ln n - \ln(n+1))$$

$$= \ln 1 - \ln(n+1)$$

$$= -\ln(n+1)$$

$$(ii) S_n = 2 \left[ 1 + \frac{1}{3} + \frac{1}{9} + \dots + \frac{1}{3^{n-1}} \right]$$

$$\frac{1}{3} S_n = 2 \left[ \frac{1}{3} + \frac{1}{9} + \dots + \frac{1}{3^{n-1}} + \frac{1}{3^n} \right]$$

$$S_n - \frac{1}{3} S_n = 2 \left[ 1 - \frac{1}{3^n} \right]$$

$$S_n = \frac{3}{2} \cdot 2 \left[ 1 - \frac{1}{3^n} \right]$$

$$= 3 \left[ 1 - \frac{1}{3^n} \right]$$

③ Ans:

The series

$$1 + x + x^2 + \dots$$

converges in  $|x| < 1$ . This follows from the ratio test. Also if  $|x| > 1$ , the series diverges. Finally if

$|x| = 1$  then  $x = 1$  or  $x = -1$ .

When  $x = 1$ , the series diverges.

"  $x = -1$ , " " does not converge either.

④

The series

$$-\frac{1}{x} \left[ 1 + \frac{1}{x^2} + \frac{1}{x^2} + \dots \right]$$

converges if  $\left| \frac{1}{x} \right| < 1$

ie  $|x| > 1$ .

Also follows from ratio test.

— x —

⑤ (i)  $\sum_{n=1}^{\infty} \frac{n}{n^2+1}$

This series converges iff

$$\int_1^{\infty} \frac{x}{x^2+1} dx \text{ converges}$$

$$\text{If } y = x^2 + 1$$

$$dy = 2x dx$$

$$\int \frac{x dx}{x^2 + 1} = \int \frac{dy}{2} \frac{1}{y}$$

$$= \frac{1}{2} \ln|y|$$

$$= \frac{1}{2} \ln|x^2 + 1|$$

$$\int_1^N \frac{x dx}{x^2 + 1} = \frac{1}{2} [\ln(N^2 + 1) - \ln 2]$$

$$\int_1^{\infty} \frac{x dx}{x^2 + 1} = \frac{1}{2} \left[ \lim_{N \rightarrow \infty} \ln(N^2 + 1) - \ln 2 \right]$$

The integral diverges and hence  
the sequence diverges as well



(ii)

$$m = n - 2$$

$$\sum_{m=1}^{\infty} \frac{1}{(m+2) \ln(m+2)}$$

$$\int \frac{1}{(x+2) \ln(x+2)} dx$$

$$y = x + 2$$

$$= \int \frac{dy}{y \ln y}$$

$$\ln y = w$$
$$dw = \frac{1}{y} dy$$

$$= \int \frac{dw}{w} = \ln |w|$$
$$= \ln |\ln y|$$
$$= \ln |\ln(x+2)|$$

$$\int_1^N \frac{1}{(x+2) \ln(x+2)} dx$$

$$= \ln|\ln(N+2)| - \ln[\ln 3]$$

$$\int_1^{\infty} \frac{1}{(x+2) \ln(x+2)} dx =$$

$$\lim_{N \rightarrow \infty} \ln[\ln(N+2)] - \ln(\ln 3)$$

The limit diverges.

Hence the sequence diverges.

$$(iii) \sum_{n=1}^{\infty} \frac{n!}{h^n}$$

$$u_n = \frac{n!}{h^n}$$

$$u_{n+1} = \frac{(n+1)!}{(n+1)^{n+1}}$$

$$\frac{u_{n+1}}{u_n} = \frac{(n+1)!}{(n+1)^{n+1}} \frac{h^n}{n!}$$

$$= \frac{(n+1) h^n}{(n+1)^{n+1}} = \frac{h^n}{(n+1)^n}$$

$$= \left( \frac{h}{n+1} \right)^n$$

$$\lim_{n \rightarrow \infty} \frac{u_{n+1}}{u_n} = \lim_{n \rightarrow \infty} \left( \frac{1}{1 + \frac{1}{h}} \right)^n = \frac{1}{e} < 1$$

Series converges

(iv)

$$u_n = \frac{(n+1)(n+2)}{n!}$$

$$u_{n+1} = \frac{(n+2)(n+3)}{(n+1)!}$$

$$\frac{u_{n+1}}{u_n} = \frac{(n+2)(n+3)}{(n+1)!} \frac{n!}{(n+1)(n+2)}$$

$$= \frac{(n+2)(n+3)}{(n+1)^2 (n+2)}$$

$$= \frac{n+3}{(n+1)^2}$$

$$\lim_{n \rightarrow \infty} \frac{u_{n+1}}{u_n} = 0 < 1$$

Series converges.